Car Control Worksheet
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. You are driving down a steep hill, using the brake pedal gently.
What else will help you control the speed of the car?

a. Lower gear

b. Higher gear

Fill in the missing words:

Kickdown is used in an automatic car. You will press the gas pedal

all the way and the car will automatically go
into a gear. Then the car will up quickly.
. What is the speed limit on a road that has no signs but regular street lights?
a. 20mph
b. 30mph

. The national speed limit on a single carriageway is
and the national speed limit on a dual carriageway is

. You must leave enough gap between your car and the car in front.
On a dry road this will be .On awetroaditis
And on icy roads the gap is

. Coasting downhill is unsafe because the car will slow down / speed up.

. Name 3 things that will affect how quickly your car will stop.

How many lanes has a dual carriageway got?
a. 1 lane

b. 2 lanes

c. 3 lanes

d. Any number of lanes

. What is the phrase that will help you answer any question about gears?

10.Lower gears in your car give you more and




